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() () Draw the equivalent circuit with a load resistance connected across the output
terminals. [0)

(i) Use the equivalent circuit to calculate the voltage across the output terminals when
the load current is 100mA. 7]
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‘The following circuit is used as a voltage source.
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‘Thevenin's theore is used to produce an equivalent circuit.
Calculate the open circuit voltage Voc and the equivalent resistance Ro.
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(5 () Draw the labelled equivalen cirut with two 2400 resistors connected i paralle

across the output terminals.

Use the equivalent circuit o calculate the voltage drop across the output
terminals.
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1. Inthe following circuit, D is a silicon diode.
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Determine the values of the quantities listed below.

(5) The combined resistance of the two 2k resistors. n

(b)  The combined resistance of all thee resistors. n
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Use the information given in the circuit diagram to determine the values of the quantiti
below.
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(e) The resistance of variable resistor R,.
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‘The following circuit is used as a voltage source.
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(&) Thevenin's theorem is used to produce an equivalent circuit for the voltage source.
(i) Calculate the open circuit vottage V. U]

(i) Calculate the short circuit current I.. 0]

Calculate the equivalent resistance R, 0]




